Entrance to the zoo is £4 ! 1 1

If 18 people want to go,

how much will it cost?
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An ice cream van sells 87
ice creams in one day.
How many ice creams

should he sell over one
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A train carriage holds 68
people. There are 59
carriages altogether, how

many people on the train
if it's full?

What is the perimeter of |
a reqular pentagon with Z?Omm :

sides measuring 58mm? °} 2°°M|
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One computer game costs |
£27 How much will 8

computer games?

A book has 89 pages.
How many pages are
there in 7 books?

The Brown family spend |
£87 on their shopping 1
each week. How much do |
they spend roughly a E
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What is the area of a
square with sides that are
64cm long?

£216

623 pages

£1044

4096cm?

on35 rows. How many
seeds has he planted

96g of sugar is needed to
make one cake. How much
sugar is needed to make

42 cakes?
4032 g or

I save £27 each month. |
How much money do I |
save in a 4 years? i
£1296 |
|

A rectangular field i
measures 38m by 72m. i
What is its area? !



